
Answer key

General exam - 10
45. c) \yq-U¬ln

46. d) s\mtkm-an H°p-lmc

47. b) _n.-Fw.-Ip´n

48. a) tKmIpew tIcf F^.kn

49. c) tamkvt°m

50. d) F.M.I Jeo-^p≈

51. b) AXn + A¥w

52. c)  BImiw

53. c) Cµp-teJ

54. a) Zzµz≥

55. b) Abbv°p∂ Bƒ

56. d) hnfw_w

57. d) ASnaØw

58. b) ZznXw

59. d) tcm[n\n

60. d) FgpØ—≥

61. b) pulled up

62. d) indeed

63. c) pile

64. c) sunrise

65. c) bellows

66. c) Teacher warened Jack not to be late again next day

(Imperative sentence indircet speech te°v am‰p-
tºmƒ warned reporting verb D]-tbm-Kn-°p-∂p.
Report part t\bpw speech part t\bpw _‘n-
∏n-°m≥ to D]-tbm-Kn-°p∂p)

67. b) has been raining

(Since, for F∂nh present perfect continuous
tense s‚ keyword BWv)

68. b) wardrobe

69. b) congenial

70. c) good faith

71. c) dissuade

72. d) scent

73. b) whom (Whome \v tijw pronoun hcp∂p)

74. c) further ( Further - additional (C\nbpw/ho≠pw)

75. d) arrival

76. b) have ( neither .........  nor h∂m¬ 2nd subject \v
A\p-k-cn®v  verb Fgp-Xp∂p)

77. b) has it   (ChnsS little F∂ -ve word D≈-Xp-
sIm≠v tag +ve hcp-∂p)

78. d) if  he had the money

(Main clause ¬  would buy Bb-Xp-sIm≠v  if
clause simple past ¬ Bbn-cn-°pw)

79. b) scholar

80. a) from  (belief from something)

1. d) FYn-en≥

2. a) DØ-cm-JWvUv sslt°m-SXn

3. b) ASn-b-¥-cm-hÿ {]J-ym-]\w

4. c) Bc-h√n

5. b) 821/20

6. d) NmW-I-y≥

7. b) am\p-h¬ tIm´

8. c) _wKmƒ

9. a) _\m-dkv

10. b) PlmwKo¿

11. b) \yq-U-¬ln

12. c) Ih-cØn

13. d) `mcX cXv\w

14. a) \µ-em¬ t_mkv

15. a) 1994

16. a) P\p-hcn 25

17. d) \oe-Kncn

18. d) CSp°n

19. c) Fw.kn tPmk^v

20. b) N´-ºn-k-zm-an-Iƒ

21. c) tIm´q¿

22. a) Be-∏pg

23. c) s]cp-º-S∏v kz-cq]w

24. d) cma-\ºn

25. b) sI.-I--cp-Wm-I-c≥

26. c) \oe-°p-b-n¬

27. d) 1568

28. a) ae-∏pdw

29. b) ]m¬Npcw

30. d) ]mTIw

31.  b) D≈q¿

32. c) Bc-y-`-S≥

33. b) tKmb-n‰¿

34. a) kƒ^¿ ssU HmIvsskUv

35. d) πmkva

36. c) AUvln-j≥

37. b) \ntbm¨

38. c) amwK-\okv

39. a) ]√ns‚ C\m-a¬

40. b) ss^{_n-t\mPn≥

41. a) N{µ≥

42. a) bp\n-sk^v

43. d) tI{µ _UvP‰v

44. b) 8



Maths Explanation

General exam - 10

81. d) 3:1 3:1 3:1 3:1 3:1

      50 cq] 70 cq]

                      55

    (70 ˛ --55) (55˛50)

        15    5

-                    15: 5 =-3:1-------

82. b) 8 ao 8 ao 8 ao 8 ao 8 ao

    12.5 sk°≥Un¬ APnØv

                   HmSp∂  Zqcw = 100 ao‰¿

         Hcp sk°≥Un¬  = 100/12.5
 = 8 ao‰¿8 ao‰¿8 ao‰¿8 ao‰¿8 ao‰¿

11.5 sk°≥Un¬ APnØv ]n∂nSp∂Xv =  8x 11.5 = 92m

B\µv 11.5 sk°‚Un¬ 100 ao‰¿ HmSptºmƒ APnØv  92
ao‰¿ BWv FØp∂Xv

              hyXymkw = 100˛92 -=8 ao‰¿

83. c)  20000  20000  20000  20000  20000

        D (100)
2 

 = 128 (100)
2
                 D hyXymkw

         
 r

                    
8

                
 = 128  x  

 100 x 100

                                           8 x 8

                 = 20000

84. b) 1 1 1 1 1

            X x Yx Z         
= 

   2x3x6   
 =

 2x3x6  
= 1

          XY +YZ+XZ      6+ 18+12       36

85. b) (0.009) (0.009) (0.009) (0.009) (0.009)33333

   3x 10 x 3x   3  x  3   x   3     x    3

                     10    100    1000    10000

                             
=

 9 x 9 x 9 x 1

                                                 10 9       

 = (0.009)3

86.  c) hrØ kvXq]nI hrØ kvXq]nI hrØ kvXq]nI hrØ kvXq]nI hrØ kvXq]nI

                             1 hrØ kvXq]nI

                         2   hrØ kvXq]nI
87. c) 3

    15 -3x 15-7     
=
  15 2   x  15 5      

 =
   1

   15 -2 x 15 -5           15 3 x 15 7    15 3

                     1         1

                    15 3   
=

 15 m     
m = 3

88. c) 31 31 31 31 31

]n∂n¬ \n∂pff  ÿm\w = (51 ˛ 21)+ 1

                           = 31

89. b) 0 Io.an 0 Io.an 0 Io.an 0 Io.an 0 Io.an

   1 Io.an

    1 /2            1 /2 Io.an

                    1 Io.an

90.b)          72 km/hr

         
 S =

  D

             T

            = 120    = 20 m/s
   20 x 18 

= 72 km/hr           6     5

91.      c) sNm∆ sNm∆ sNm∆ sNm∆ sNm∆

         2016 s^{_phcn 14 = RmbdmgvN

         2017 s^{_phcn 14 = RmbdmgvN + 2

                           = sNm∆

92. b) 4 4 4 4 4

      2 8, 12, 16
      2 4,  6, 8
        2,  3, 4
                  HCF = 2x2=4

93. a) 800 800 800 800 800

 Pbn°m≥ th≠  am¿°v = 250+ 30 = 280

                          35
                     BsIx100 

 = 280

   4       20
                        BsI = 280 x  100     = 800

                                                35
5

94. c) 4.40 4.40 4.40 4.40 4.40

               11:60 - 7:20 = 4: 40

95. d) 10% 10% 10% 10% 10%

UnkvIu≠v  % =   UnkvIu≠v  
x 100

                     ]ckyhne

                  =   50000-˛-45000 
 x 100

                         50000

                 =     5000   
x 100                      50000

                =   10%10%10%10%10%

96. d) 8

             BsI 20 x 5 = 100

H∂v Hgnhm°nbt∏mƒ BsI  = 23 x 4 =92

                   kwJy = 8



97.d) ta¬°qc ta¬°qc ta¬°qc ta¬°qc ta¬°qc

98.b)          EIFETT

          S    C    R    I    P    T      D    I    G    E    S    T

     +1                -1            +1 +1    -1    +1

         T    C    Q    I    Q    T      E    I    F    E    T    T

     99. a) thcv thcv thcv thcv thcv

100 c) 31 31 31 31 31

       81,    69,    58,    48,    39,    31

-                ---12      -11       -10      -9       -8

- - - -

( ( ( ( (


